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SOCIAL SCIENCE 

           

1.  In a game of cricket who is always given the  benefit of doubt     1 

a.  Umpire b.  Bowler c. Fielder  d. Batsman 

2.  In Victorian England which players are known as amatrurs’    1 

a.  Inexperienced cricketers   

b. The players who get play to get training 

c. The players who were rich but played only for pleasure 

d.  players who played to earn money 

3.  Which one of the trees does not grow in the tropical deciduous Forests   1 

a.  Teak  b.  Pine   c.  Peepal        d.  Neem 

4.  In which of the following states is Nanda Devi Bio-reserve located   1 

a.  Himachal Pradesh b.  Uttarakhand c.  Sikkim    d.  Assam 

5.  The chief election commissioner of India is appointed by the    1 

a.  President of India  b.  The Prime Minister  

c.  The chief justice of India d.  Speaker of Lok Sabha 

6.  Which of the following doesn’t hold true regarding citizens rights in Saudi Arabia?  1 

a.  The people had no role in Changing their ruler 

b.  The citizen can form political association 

c.  People don’t enjoy freedom of religion 

d.  The testimony of one man is considered equal to that of two women 

7.  There has been significant decline in poverty in Kerala because it has given more 

 focus on              1 

a. Land reform     b.  Rural development  

c. Human resource development d. Urban development 

8. Which of the following Rights is covered under the constitution of India ?  1 

a.  Right to Privacy   b.  Right to work    c. Right to clothing     d. Right to Education 

9. By whom is the minimum support price declared every year ?    1 

a.  National sample survey Organisation b.  Food corporation of India 

c.  Buffer stock     d.  Government  

10. Which among is the most appropriate meaning of food security ?   1 

a.  Availability of food to all sections of society 

b.  Availability of food to the rural people 



c.  Availability of food to the urban people 

d.  Availability of food to the land less labours 

11.  Identify the colonial flavour of colonial world cricket during 1950 and 1960.  3 

12.  Which changes were brought in hunting practices in forests by forests laws?  3 

13.  Explain the mechanism of monsoons.        3 

14.  Why does rainfall decrease from east to west in northern part of India?   3 

15.  Describe any three characteristics of tropical deciduous forests.    3 

16.  Explain any three important processes of population change.    3 

17.  Mention any three slogans used by different political parties at the time of election and 

 purpose behind them.          3 

18. Explain any three powers of the president of India.      3 

19.  Explain any three characteristics of popular participation in the election process. 3 

20.  Explain any three causes of poverty in India.       3 

21.  Name two states of India where poverty ratio is highest ? What is the cause ?  3 

22. Write the name of groups which is worst affected in respect of food and nutrition’s in 

 India.             3 

23  Which European country colonised Java ?How was it realized ?    5 

24.  Who was the first inspector general of forest in India ?What contributions did he make 

 towards preservation and development of forest wealth in India ?   5 

25.  Why did Gandhiji condemn the pent angular series in colonial India ?  5 

26. Explain the factors which are responsible for uneven distribution of population in 5 

  India. 

27. What is meant  by integrated judiciary ?Explain the jurisdiction of the supreme court 

 of India. Mention any three points.        5 

28.  Explain the Right to equality.         5 

29. Why different countries use different poverty lines ? Name the two basis of measuring  

 poverty.            5 

30. What is fair price shop ? Why are the opened ? Explain the problem in functioning of 

 ration shops.            5 

31.  Two features are shown in the political outline of India. Identify these features with 

 the help of following information and write the correct names on the lines marked in 

 the map.                          2x1=3 

 A--- Type of forest 

 B--- The state having highest sex ratio. 

*** 


